C:h Finding Midpoint Based on Coordinates

Name:
Find the midpoint of the set of coordinates. Answers
Ve e A\
( Midpoint Formula The midpoint is at (6&
X1+ Xy YitYe A 1.
2 ., 2
To find the midpoint of the coordinates (4,5) 2.
? and (8,1), plug the values into the midpoint ®
formula . 3
11, 4+8 5+1 )
\ 2, > )|
1)
(6,2)&(2,3) 5.
2) 6.
(10,1)&(8,4)
7.
3)
(4,6)&(5,0)
8.
4)
5
) (2,7)8(1,4) 10
6) 11.
(3.2)&(5,1)
12.
7)
(3,1)&(10,7)
8)
(1,2)&(0,6)
9
(2,0)&(7,1)
10)
(5,4)&(0,2)
11)
(2,5)&(6,2)
12)
(5,1)&(9,2)
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ﬂh Finding Midpoint Based on Coordinates Name:. Answer Key

Find the midpoint of the set of coordinates. Answers
/ Midpoint Formula e \
A o, o TTemldp0|nt|sat(6,3). L (412.5)
2 , 2
To find the midpoint of the coordinates (4,5) 2. (9 1 2-5)
? and (8,1), plug the values into the midpoint ®
formula . 3 (4_5 , 3)
O > 4+8 5+1 )
\_ 2 ., 2 I« (35,4
1) (6.2)8(2.3) 6;2’2;3) - (4.25) 5. (1.5,5.5)
2) 10+8 1+4 \ _ 6. _ (4,19
(10,1)& (8, 4) (T > ) = (9,25) 65 4
7. 9
3)46&50 445 6+0 = (45,3
(’)(!) 2’2)_('1) 8 (05,4)
4) 3+4 8+0
(3.8)&(4,0) (-~ ) = (35,9 0. _(45,05)
¥ (2.7)a(1,4) %,7;4) = (15,55) w0 _ (25,3)
1. (4,35
2 (3,2)&(5,1) 3;5,2;1) = (4,15)
2. (7,15)
7) 3+10 1+7 B
(3,1)&(10,7) ( IR )_ (6.5, 4)
8) 1+0 2+6  _
(1,2)&(0,6) S ) = (05,4)
) 2,0)& (7,1 247 0+1 = (45,05
(2,00&(7,1) (5~~~ ) = 45,05
10) 5+0 4+2 B
(5,4)&(0,2) 5 ) = 25.9)
11) 2+6 5+2 \ _
(2,5)&(6,2) R ) = (4,35)
12) 5+9 1+2 3
(5,1)&(9,2) R ) = (7,15)
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